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Extra Credit Data Sets

(given in x, y format)
	Data Set 1
	Data Set 2
	Data Set 3

	P (watt)
	W (kg)
	T (s)
	m (kg)
	W (kg)
	Q (cal)

	1.0
	0.193
	0.5
	0.67
	5
	2.38

	1.5
	0.434
	2.5
	0.142
	10
	1.68

	2.0
	0.772
	3.5
	0.102
	15
	1.38

	2.5
	1.210
	4
	0.082
	20
	1.19

	3.0
	1.740
	5
	0.066
	25
	1.06




Data Set 1 *


[image: image2.wmf]2

2

kg

W = (0.193 ) P

watt




* See sample data analysis and graphical analysis at the  end of this answer key.




Data Set 2
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Data Set 3
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Individual Data Sets

Data Set 1
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Data Set 14
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Data Set 2
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Data Set 15
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Data Set 3
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Data Set 16
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Data Set 4
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Data Set 17
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Data Set 5
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Data Set 18
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Data Set 6
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Data Set 19
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Data Set 7
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Data Set 20
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Data Set 8
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Data Set 21
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Data Set 9
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Data Set 22
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Data Set 10
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Data Set 23
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Data Set 11
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Data Set 24
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Data Set 12
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Data Set 25
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Data Set 13
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 SEQ CHAPTER \h \r 1Lab - Data Analysis - Examples
The goal is to use the data analysis to find the equation relating the two variables from the data that was input into the data analysis Excel spreadsheet.  Directions on how to do this are given below the data analysis print out.

Example 1
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Example 2
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Example 3
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Example 4
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Lab - Data Analysis - Homework
Use the data analysis below to find the equation relating the two given variables.  Show all work.

Problem 1



[image: image42.wmf]2

y x = k



[image: image43.wmf]22

E U = 0.396 

m

s

s






[image: image44.wmf]2

1

E  

α 

U


Problem 2
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Data Set 1 - Sample Answer Set
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Graphical Analysis 
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Equation: 
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m = (3 kg/s) T





t = (2 s/cal2) Q2





l = (10 m N) 1/F
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